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Question 1

a) What is meant by balance of payments (BOP)? [Smarks]

b) Using the IS-LM framework incorporating the foreign sector demonstrate how a policy
dilemma with a trade deficit could be addressed using tariffs and the money supply.
Clearly explain the monetary transmission mechanism. [15marks]

¢) In what way are government budget deficits harmful to an economy?  [Smarks]

Question 2
a) Define and explain the relationship between inflation and unemployment.
[6marks]
b) Using a diagram illustrate the major conclusions of the Phillips curve. Clearly indicate
the policy options implied. [12 marks]
¢) Explain four measures used by the Swaziland government to curb unemployment.
[9marks]
Question 3
a) Using an appropriate diagram illustrate and explain the various stages of the business
cycle. [10 marks]
b) Discuss the different views to the causes of business cycles. [10 marks]
¢) How do policy makers deal with the problem of business cycles? [5 marks
Question 4
a) What is meant by supply shocks? Give examples. [5 marks]
b) Using the AD-AS framework illustrate how an adverse supply shock would affect
the equilibrium output and the price level. [15 marks]
c) Explain the statement ‘wages are sticky’ in the shorfc run. [5 marks]
Question 5
Write explanatory notes on the following concepts
i) leading, lagging and coincident indicators
i) short run aggregate supply curve depicting the three ranges

iii) spot and forward exchange rate

iv) bracket creep and inflation indexation

V) accommodating policies and monetizing budget deficits in the IS-LM model
[5 marks each]



Tablas 473

1. Areas in the right-hand tail of the normal .dism'bution




Answers to Questions 475
3. Student’s t Critical Points
Critical
point
af .25 .10 .05 .025 .010 .005 .001
1 1.000 3.078 6.314 12.706 31.821 43,657 318.31
2 .816 1.886 2.920 4.303 6.965 9.925 22.326
3 .765 1.638 2.353 3.182 4.541 5.841 10.213
4 .741 1.533 2.132 2.776 3.747 4.604 7.173
5 727 1.476 2.015 2.571 3.365 4.032 5.893
6 718 1.440 1.943 2.447 3.143 3.707 5.208
7 711 1.415 1.895 2,365 2.998 3.499 4.785
8 706 1.397 1.860 2.306 2.896 3.355 4.501
9 .703 1.383 1.833 2.262 2.821 3.250 4.297




